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Main()

{il’lt *p’*q’i’j;

Int **qq;

i=1;j=2;printf("i=%d;j=%d;\n" i,j);

p=&i;q=&j;

*p:*q;Printf("iz%d;j=%d;\nn’i’j);

qq=&p;

#*kqq=7;printf("i=%d;j=%d;\n" i,j);

}
i=lj=2 i=lj=2 =Ll i
e i=hi=2 ¢ i=2j=2 < i=2j=2 .9
i=7j=2 i=Tj=17 i=7;j=7 27,22
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Program exam(input, output); Procedure s; {3}

Procedure s: {1} Begin
Begin WriteIn(Sample?2)
Writeln('samplet') End;
End; Begin
U

Procedure T;

Procedure U; End;.
Begin Beg_:_n

S {2} End.
End;
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Program s;
Var x,y,j:integer;
Procedure T(y,z:integer);
Begin
7:=7-5;
Y:=Y+5;
X:=X-Y;
End;
Begin
X:=3;
Y:=4;
T(X,Y);
Writeln(x,y);
End.

S pasie ol 5 bg 5y poly ) oS Ak s 0
begin
int x:=2;
procedure  p();
begin
write(X);
end
pO);
begin
int X :=3;
pO;
end;
pO);

end;
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